GOVERNMENT OF THE DISTRICT OF COLUMBIA					1.REQU	ISITION NUMBER	PAGE		
	DER/DELIVERY ORI <i>TO COMPLETE BLOCKS</i>		RVICES				RK20)5431	1 of 6
	DER AGREEMENT NO.	3.AWARD/EFF	ECTIVE DATE	4. CONTRAC	T NUME	BER		CITATION NUMBER	6. SOLICITATION
CWOOCA	<i>-</i>	C D11-	- 20 -	GW 100 CO	5 / A D	2225	Desc	10410	ISSUE DATE
CW9962	3	See Block	30C.	CW9962	5/AR-	-3227	Doco	10410	04/29/2022
	CITATION INFORMATION	A. NAME		•			B. TELI	EPHONE (No Collect	8.OFFER DUE DATE:
Yolanda.N	nail: Acdonald@dc.gov	Yolanda M	1cDonald					727-8704	05/06/2022
9. ISSUED BY				10. THIS ACC	UISITIC	ON IS		IVERY FOR FOB	12. PAYMENT
O.C. C	10 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	,		☐ UNREST	RICTED			IATION UNLESS IS MARKED	DISCOUNT TERMS
	Contracting and Profon Technology Grown			☐ SET ASII ☐ SMALL I			⊠ N/A		Net 30 days
	Street, N.W., Suite 3:			☐ SMALL I ☐ DCSS:	ISADV.	BUS.		RESERVED	
	Washington, D.C. 20001			COOP AR	3227		14. MET	THOD OF SOLICITATION	ON
				SIC:			⊠ RFT	OP □ RFQ □ IFB	☐ RFP ☐ 2-STEP
				SIZE STAND	ARD:				
5. CONTRAC	CTOR / OFFEROR			16. PAYMEN	T WILL	BE MADE BY	CODE		
DISYS S	olutions, Inc. (dba)	DSI Tech)		Office of	the C	hief Techr	nology	Officer/Accoun	ts Pavable
	pe Ct., Ste. 100	201 10011)		200 I Str					,
Ashburn,	A 20147					o.C. 20003			
15A DUNS I	NO. 15B TAX ID NO	<u> </u>		www.vei	dorpo	ortal.dc.go	V		
17. DELIVER		<u> </u>		18. ADMINIS	TERED	BY			
0.00		0.00		0.00		u · cm 1	,	0.00	
	the Chief Technolog vin Catalin	gy Officer		Office of the Chief Technology Officer					
	Warehouse			200 I Street, S.E. Washington, D.C. 20003					
	treet N.E.								
Washingt	ton, D.C. 20018								
_	F REMITTANCE IS DIFFERENT	AND PUT SUCH	ADDRESS IN OFFER					ADDRESS SHOWN IN BL	OCK 16 UNLESS BLOCK
						LOW IS CHECKI SEE ADDENDU			
19 ITEM NO.		2 SCHEDIII E OE SII	0 PPLIES/SERVICES		I.	21 QUANTITY	22 UNIT	23 UNIT PRICE	24 AMOUNT
TTEM NO.		JCHEDOLL OF 30	T LIES/ SERVICES			QUANTITI	OMIT	ONTTRICE	AMOUNT
0001-		Cisco Equipa	ment (DCPS)			1	Lot		\$1,616,579.69
0317	(See Pri	cing Schedu	ıle – Attachme	nt A)		1	Lot		\$1,010,379.09
25. ACCOU	JNTING AND APPROPRIATION	ON DATA			26.	. TOTAL AWA	RD (FOR GO	OVT. USE ONLY)	
DI ID CIT	A CE ODDED NO								1,616,579.69
PURCH	ASE ORDER NO.								1,010,377.07
27. CONTRAC	TOR IS REQUIRED TO SIGN T	HIS DOCUMENT A	AND RETURN ONE COF	PY 28. TH	FOLLO	WING DOCUMEI	NTS ARE I	NCORPORATED BY REF	ERENCE INTO THIS TASK
	TO THE ISSUING OFFICE. CONTRACTOR AGREES TO FURNISH AND DELIVER AL ITEMS SET FORTH OR OTHERWISE IDENTIFIED ABOVE AND ON ANY ADDITIONAL							 CONTRACTOR'S Tecl AS AND CONDITIONS OF 	
PAGES SUBJE	PAGES SUBJECT TO THE TERMS AND CONDITIONS SPECIFIED HEREIN. THIS ORE IS ISSUED SUBJECT TO THE TERMS AND CONDITIONS OF THE DC SUPPLY SCHED			ER SCHEDI	ILE CON		AL SUPPL	Y SCHEDULE CONTRACT	
CONTRACT, F	FEDERAL SUPPLY SCHEDULE (120 111 020	T.		
29A. SIGNAT	URE OF OFFEROR /CONTRAC	CTOR		30A. D	ISTRICT	OF COLUMBIA	(SIGNATU	RE OF CONTRACTING O	OFFICER)
Vinu Lut, hra					B	renda	100	1 <i>M</i> .	
						uncic	XYEE		
29B. NAME AI	ND TITLE OF SIGNER (TYPE OR F	PRINT)	29C. DATE S IGNED	30B. N	ME OF C	CONTRACTING	OFFICER (TYPE OR PRINT)	30C DATE SIGNED
Vinu Lut	thra, Chief Operati	ng Officer	05/17/2022	Breno	la Alle	en			5/17/2022
, ma Dat		5 0111001	03/17/2022	_		Officer			

1. Services Required

The Office of Contracting and Procurement, on behalf of the Metropolitan Police Department seeks a vendor to provide new Dell hardware (i.e., desktops, laptops, monitors and docking stations) in support of MPD's inventory replenishment efforts to avoid stock-out.

2. Contract Number

AR-3227

3. Task Order Number

CW99625

4. Term of Contract

The period of performance shall be one year from date of Award.

5. Contracting Officer (CO)

Contracts may be entered into and signed on behalf of the District Government only by Contracting Officers. The name, address, and telephone number of the Contracting Officer for this task order is:

Derrick White, Chief Contracting Officer 200 I Street, S.E., Suite 5410 Washington, DC 20003 Office: (202) 724-5278 Email: derrick.white@dc.gov

- 5.1 The CO is the only person authorized to approve changes in any of the requirements of this contract.
- 5.2 The Contractor shall not comply with any order, directive or request that changes or modifies the requirements of this contract, unless issued in writing and signed by the CO.
- 5.3 In the event the Contractor effects any change at the instruction or request of any person other than the CO, the change will be considered to have been made without authority and no adjustment.

6. Contract Administrator (CA)

The CA is responsible for the technical administration of the contract and advising the Contracting Officer as to the Contractor's compliance or noncompliance with the contract. In addition, the CA is responsible for the day-to-day monitoring and supervision of the contract, of ensuring that the work conforms to the requirements of this contract and such other responsibilities and authorities as may be specified in writing by the Contracting Officer. The CA for this task order is:

Tige Johnson
Office of Chief Technology Officer
Hief Performance Officer
Telephone: (202) 715-3753
E-mail: tige.johnson@dc.gov

- 6.1 It is understood and agreed that the CA shall not have the authority to make changes in the specifications statement of work or terms and conditions of the contract.
- 6.2 Contractor shall be held fully responsible for any changes not authorized in advance, in writing, by the Contracting Officer; may be denied compensation or other relief for any additional work performed that is not so authorized; and may also be required, at no additional cost to the District, to take all corrective action necessitated by reason of the unauthorized changes.

7. Invoice Payment

The District will make payments to the Contractor, upon the submission of proper invoices, at the prices stipulated in this contract, for supplies delivered and accepted or services performed and accepted, less any discounts, allowances or adjustments provided for in this contract.

7.1 The District will pay the Contractor on or before the 30th day after receiving a proper invoice from the Contractor.

8 Invoice Submittal

The Contractor shall submit proper invoices on a monthly basis or as otherwise specified in the contract.

- 8.1 The Contractor shall submit payment requests in electronic format through the DC Vendor Portal www.vendorportal.dc.gov by selecting the applicable purchase order number which is listed on the Contractor 's profile.
- **8.2** To constitute a proper invoice, the Contractor shall attach to all payment requests the invoice and all supporting documentation or information.

9. Insurance

A. GENERAL REQUIREMENTS. The Contractor at its sole expense shall procure and maintain, during the entire period of performance under this contract, the types of insurance specified below. The Contractor shall have its insurance broker or insurance company submit a Certificate of Insurance to the CO giving evidence of the required coverage prior to commencing performance under this contract. In no event shall any work be performed until the required Certificates of Insurance signed by an authorized representative of the insurer(s) have been provided to, and accepted by, the CO. All insurance shall be written with financially responsible companies authorized to do business in the District of Columbia or in the jurisdiction where the work is to be performed and have an A.M. Best Company rating of A- / VII or higher. Should the Contractor decide to engage a subcontractor for segments of the work under this contract and wish to propose different insurance requirements than outlined below, then, prior to commencement of work by the subcontractor, the Contractor shall submit in writing the name and brief description of work to be performed by the subcontractor on the Subcontractors Insurance Requirement Template provided by the CA, to the Office of Risk Management (ORM). ORM will determine the insurance 4 requirements applicable to the subcontractor and promptly deliver such requirements in writing to the Contractor and the CA. The Contractor must provide proof of the subcontractor's required insurance prior to commencement of work by the subcontractor. If the Contractor decides to engage a subcontractor without requesting from ORM specific insurance requirements for the subcontractor, such subcontractor shall have the same insurance requirements as the Contractor.

All required policies shall contain a waiver of subrogation provision in favor of the Government of the District of Columbia.

The Government of the District of Columbia shall be included in all policies required hereunder to be maintained by the Contractor and its subcontractors (except for workers' compensation and professional liability insurance) as an additional insureds for claims against The Government of the District of Columbia relating to this contract, with the understanding that any affirmative obligation imposed upon the insured Contractor or its subcontractors (including without limitation the liability to pay premiums) shall be the sole obligation of the Contractor or its subcontractors, and not the additional insured. The additional insured status under the Contractor's and its subcontractors' Commercial General Liability insurance policies shall be effected using the ISO Additional Insured Endorsement form CG 20 10 11 85 (or CG 20 10 07 04 and CG 20 37 07 04) or such other endorsement or combination of endorsements providing coverage at least as broad and approved by the CO in writing. All of the Contractor's and its

subcontractors' liability policies (except for workers' compensation and professional liability insurance) shall be endorsed using ISO form CG 20 01 04 13 or its equivalent so as to indicate that such policies provide primary coverage (without any right of contribution by any other insurance, reinsurance or self-insurance, including any deductible or retention, maintained by an Additional Insured) for all claims against the additional insured arising out of the performance of this Statement of Work by the Contractor or its subcontractors, or anyone for whom the Contractor or its subcontractors may be liable. These policies shall include a separation of insureds clause applicable to the additional insured.

If the Contractor and/or its subcontractors maintain broader coverage and/or higher limits than the minimums shown below, the District requires and shall be entitled to the broader coverage and/or the higher limits maintained by the Contractor and subcontractors.

B. INSURANCE REQUIREMENTS

- 1. <u>Commercial General Liability Insurance ("CGL")</u> The Contractor shall provide evidence satisfactory to the CO with respect to the services performed that it carries a CGL policy, written on an occurrence (not claims-made) basis, on Insurance Services Office, Inc. ("ISO") form CG 00 01 04 13 (or another occurrence-based form with coverage at least as broad and approved by the CO in writing), covering liability for all ongoing and completed operations of the Contractor, including ongoing and completed operations under all subcontracts, and covering claims for bodily injury, including without limitation sickness, disease or death of any persons, injury to or destruction of property, including loss of use resulting therefrom, personal and advertising injury, and including coverage for liability arising out of an Insured Contract (including the tort liability of another 5 assumed in a contract) and acts of terrorism (whether caused by a foreign or domestic source). Such coverage shall have limits of liability of not less than \$1,000,000 each occurrence, a \$2,000,000 general aggregate (including a per location or per project aggregate limit endorsement, if applicable) limit, a \$1,000,000 personal and advertising injury limit, and a \$2,000,000 products-completed operations aggregate limit. The vendor should be named as an additional insured on the applicable manufacturer's/distributer's Commercial General Liability policy using Insurance Services Office, Inc. ("ISO") form CG 20 15 04 13 (or another occurrence-based form with coverage at least as broad). OCP should collect, review for accuracy and maintain all warranties for goods and services.
- 2. <u>Automobile Liability Insurance</u> The Contractor shall provide evidence satisfactory to the CO of commercial (business) automobile liability insurance written on ISO form CA 00 01 10 13 (or another form with coverage at least as broad and approved by the CO in writing) including coverage for all owned, hired, borrowed and non-owned vehicles and equipment used by the Contractor, with minimum per accident limits equal to the greater of (i) the limits set forth in the Contractor's commercial automobile liability policy or (ii) \$1,000,000 per occurrence combined single limit for bodily injury and property damage.
- 3. <u>Workers' Compensation Insurance</u> The Contractor shall provide evidence satisfactory to the CO of Workers' Compensation insurance in accordance with the statutory mandates of the District of Columbia or the jurisdiction in which the contract is performed.

Employer's Liability Insurance - The Contractor shall provide evidence satisfactory to the CO of employer's liability insurance as follows: \$500,000 per accident for injury; \$500,000 per employee for disease; and \$500,000 for policy disease limit.

All insurance required by paragraphs 1,2 and 3 shall include a waiver of subrogation endorsement for the benefit of Government of the District of Columbia.

- 4. Cyber Liability Insurance The Contractor shall provide evidence satisfactory to the Contracting Officer of Cyber Liability Insurance, with limits not less than \$2,000,000 per occurrence or claim, \$2,000,000 aggregate. Coverage shall be sufficiently broad to respond to the duties and obligations as is undertaken by Contractor in this agreement and shall include, but not limited to, claims involving infringement of intellectual property, including but not limited to infringement of copyright, trademark, trade dress, invasion of privacy violations, information theft, damage to or destruction of electronic information, release of private information, alteration of electronic information, extortion and network security. The policy shall provide coverage for breach response costs as well as regulatory fines and penalties as well as credit monitoring expenses with limits sufficient to respond to these obligations. Limits may not be shared with other lines of 6 coverage. A copy of the cyber liability policy must be submitted to the Office of Risk Management (ORM) for compliance review.
- 5. Commercial Umbrella or Excess Liability The Contractor shall provide evidence satisfactory to the CO of commercial umbrella or excess liability insurance with minimum limits equal to the greater of (i) the limits set forth in the Contractor's umbrella or excess liability policy or (ii) \$5,000,000 per occurrence and \$5,000,000 in the annual aggregate, following the form and in excess of all liability policies. All liability coverages must be scheduled under the umbrella and/or excess policy. The insurance required under this paragraph shall be written in a form that annually reinstates all required limits. Coverage shall be primary to any insurance, self-insurance or reinsurance maintained by the District and the "other insurance" provision must be amended in accordance with this requirement and principles of vertical exhaustion.
- C. PRIMARY AND NONCONTRIBUTORY INSURANCE The insurance required herein shall be primary to and will not seek contribution from any other insurance, reinsurance or self-insurance including any deductible or retention, maintained by the Government of the District of Columbia.
- D. DURATION. The Contractor shall carry all required insurance until all contract work is accepted by the District of Columbia and shall carry listed coverages for ten years for construction projects following final acceptance of the work performed under this contract and two years for non-construction related contracts.
- E. LIABILITY. These are the required minimum insurance requirements established by the District of Columbia. However, the required minimum insurance requirements provided above will not in any way limit the contractor's liability under this contract.
- F. CONTRACTOR'S PROPERTY. Contractor and subcontractors are solely responsible for any loss or damage to their personal property, including but not limited to tools and equipment, scaffolding and temporary structures, rented machinery, or owned and leased equipment. A waiver of subrogation shall apply in favor of the District of Columbia.
- G. MEASURE OF PAYMENT. The District shall not make any separate measure or payment for the cost of insurance and bonds. The Contractor shall include all of the costs of insurance and bonds in the contract price.
- H. NOTIFICATION. The Contractor shall ensure that all policies provide that the CO shall be given thirty (30) days prior written notice in the event of coverage and / or limit changes or if the policy is canceled prior to the expiration date shown on the certificate. The Contractor shall provide the CO with ten (10) days prior written notice in the event of non-payment of premium. The Contractor will also provide the CO with an updated Certificate of Insurance should its insurance coverages renew during the contract.

I. CERTIFICATES OF INSURANCE. The Contractor shall submit certificates of insurance giving evidence of the required coverage as specified in this section prior 7 to commencing work. Certificates of insurance must reference the corresponding contract number. Evidence of insurance shall be submitted to:

The Government of the District of Columbia Yolanda McDonald, Contract Specialist 200 I Street SE Suite 5410 Washington, DC 20003 **Office:** (202) 727-8704

Email:yolanda.mcdonald@dc.gov

The CO may request and the Contractor shall promptly deliver updated certificates of insurance, endorsements indicating the required coverages, and/or certified copies of the insurance policies. If the insurance initially obtained by the Contractor expires prior to completion of the contract, renewal certificates of insurance and additional insured and other endorsements shall be

furnished to the CO prior to the date of expiration of all such initial insurance. For all coverage required to be maintained after completion, an additional certificate of insurance evidencing such coverage shall be submitted to the CO on an annual basis as the coverage is renewed (or replaced).

- **A.** Disclosure of Information. The Contractor agrees that the District may disclose the name and contact information of its insurers to any third party which presents a claim against the District for any damages or claims resulting from or arising out of work performed by the Contractor, its agents, employees, servants or subcontractors in the performance of this contract.
- **B.** Carrier Ratings. All Contractor's and its subcontractors' insurance required in connection with this contract shall be written by insurance companies with an A.M. Best Insurance Guide rating of at least A- VII (or the equivalent by any other rating agency) and licensed in the District.
- 10. Attachments
- **10.1** Attachment A Statement of Work
- **10.2** Attachment B Price Schedule

ATTACHMENT A

Statement of Work

A.1 Scope

The Office of the Chief Technology Officer (OCTO)/DC-Net, seeks a contractor to provide network infrastructure components at DCPS schools for improved and sustained network coverage.

A.2 Applicable Documents

None

A.3 Definitions

None

A.4 Background

OCTO/DC-Net operates and maintains the optical fiber voice/data network for the District of Columbia Government supporting the communications and data processing needs of the District, including the schools, police, fire/emergency medical, and its various agencies. DC-Net operates and maintains network infrastructure serving the voice and data needs of the District of Columbia's Public Schools (DCPS). The network infrastructure is an evolving structure based on additional DCPS needs and requirements. To meet the growth and change requirements necessitates the upgrade of network infrastructure components at DCPS schools identified for improved and sustained network coverage.

A.5 Requirements

A.5.1 The Contractor shall provide the following:

Line Item No.	Part Number	Description	Qty	Unit Item
0001	DN2-HW-APL-XL	DNA CENTER APPLIANCE (GEN 2)	3	each
0002	CON-SSSNT- DN2HWXL	SOLN SUPP 8X5XNBD DNA CENTER APPLIANCE (GEN 2)	3	each
0003	DNA-SW-2.2.3	CISCO DNA CENTER SW 2.2.3	3	each
0004	CAB-AC-L620-C13	AC POWER CORD, NEMA L6-20 - C13, 2M/6.5FT	12	each
0005	DN2-PCIE-ID10GF	INTEL X710-DA2 DUAL-PORT 10G SFP+ NIC	3	each
0006	DN2-SD-64G-S	64GB SD CARD FOR UCS SERVERS	3	each
0007	DN2-TPM2-002	TRUSTED PLATFORM MODULE 2.0 FOR UCS SERVERS	3	each
0008	DN2-SD38T61X-EV	3.8TB 2.5 INCH ENTERPRISE VALUE 6G SATA SSD	6	each
0009	DN2-C480-8HDD	UCS C480 M5 DRIVE MODULE FOR 8X HDD	9	each
0010	DN2-C480-CM	UCS C480 M5 CPU MODULE W/O CPU, MEM	6	each
0011	DN2-MSTOR-SD	MINI STORAGE CARRIER FOR SD (HOLDS UP TO 2)	3	each
0012	DN2-PSU1-1600W	CISCO UCS 1600W AC POWER SUPPLY FOR RACK SERVER	12	each

Line	oment (DCPS)			
Item No.	Part Number	Description	Qty	Unit Item
0013	DN2-RAID-M5HD	CISCO 12G MODULAR RAID CONTROLLER WITH 4GB CACHE	3	each
0014	DN2-PCIE-IQ10GF	INTEL X710 QUAD-PORT 10G SFP+ NIC	3	each
0015	DN2-SD19T61X-EV	1.9TB 2.5 INCH ENTERPRISE VALUE 6G SATA SSD	48	each
0016	DN2-SD480G6I1X- EV	480GB 2.5 INCH ENTERPRISE VALUE 6G SATA SSD	6	each
0017	DN2-MR-X32G2RT- H	32GB DDR4-2933-MHZ RDIMM/2RX4/1.2V	72	each
0018	DN2-CPU-I8276	INTEL 8276 2.2GHZ/165W 28C/38.50MB DCP DDR4 2933 MHZ	12	each
0019	DN2-HW-APL-XL- LIC	CISCO DNAC APPLIANCE LICENSE- 112 CORE	3	each
0020	С9136І-В	CISCO CATALYST 9136I SERIES, INTERNAL ANTENNAS,-B REGULATOR	566	each
0021	SW9136-CAPWAP- K9	CAPWAP SOFTWARE FOR CATALYST 9136I	566	each
0022	AIR-AP-T-RAIL-R	CEILING GRID CLIP FOR APS & CELLULAR GATEWAYS-RECESSED	566	each
0023	AIR-AP-BRACKET- 1	802.11 AP LOW PROFILE MOUNTING BRACKET (DEFAULT)	566	each
0024	C9136I-DNA- OPTOUT	CISCO DNA SUBSCRIPTION OPTOUT FOR C9136AX	566	each
0025	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	566	each
0026	C9136I-MULTI	MINIMUM QUANTITY = 10	566	each
0027	C9500-16X-A	CATALYST 9500 16-PORT 10GIG SWITCH, ADVANTAGE	2	each
0028	CON-SNT- C95K16XA	SNTC-8X5XNBD CATALYST 9500 16-POR	2	each
0029	C9500-NM-BLANK	CATALYST 9500 NETWORK MODULE BLANK COVER	2	each
0030	C9500-NW-A	C9500 NETWORK STACK, ADVANTAGE	2	each
0031	C9500-DNA-16X-A	C9500 DNA ADVANTAGE, TERM LICENSES	2	each
0032	C9500-DNA-L-A-5Y	DNA ADVANTAGE 5 YEAR LICENSE	2	each
0033	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	6	each
0034	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	6	each
0035	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	2	each
0036	PWR-C4-950WDC-R	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each
0037	PWR-C4-950WDC- R/2	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each
0038	S9500UK9-176	CISCO CATALYST 9500 XE 17.6 UNIVERSAL	2	each

Line Item No.	Part Number	Description	Qty	Unit Item
0039	GLC-LH-SMD=	1000BASE-LX/LH SFP TRANSCEIVER MODULE, MMF/SMF, 1310NM, DOM	8	each
0040	SFP-10G-SR-S=	10GBASE-SR SFP MODULE, ENTERPRISE-CLASS	24	each
0041	GLC-SX-MMD=	1000BASE-SX SFP TRANSCEIVER MODULE, MMF, 850NM, DOM	4	each
0042	GLC-TE=	1000BASE-T SFP TRANSCEIVER MODULE FOR CATEGORY 5 COPPER WIRE	2	each
0043	C9407R-96U-BNDL-A	CATALYST 9400 SERIES 7 SLOT, SUP, 2XC9400-LC-48U, DNA-A LIC	1	each
0044	CON-SNT- C9407R9A	SNTC-8X5XNBD CATALYST 9400 SERIES 7 SLOT, SUP, 2XC940	1	each
0045	C9400-NW-A	CISCO CATALYST 9400 NETWORK ADVANTAGE LICENSE	2	each
0046	C9400-PWR- BLANK	CISCO CATALYST 9400 SERIES POWER SUPPLY BLANK COVER	4	each
0047	C9400-S-BLANK	CISCO CATALYST 9400 SERIES SLOT BLANK COVER	1	each
0048	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	1	each
0049	CAB-CON-C9K- RJ45	CONSOLE CABLE 6FT WITH RJ-45-TO-RJ-45	1	each
0050	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	1	each
0051	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	1	each
0052	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	1	each
0053	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	1	each
0054	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	2	each
0055	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	2	each
0056	C9400-LC-48U-B	CISCO CATALYST 9400 SERIES 2XC9400-LC-48U FOR BUNDLE SELECT	1	each
0057	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	1	each
0058	C9400-SUP-1XL-B	CISCO CATALYST 9400 SERIES SUP-1XL BUNDLE SELECT OPTION	1	each
0059	C9400-SUP-1XL	CISCO CATALYST 9400 SERIES SUPERVISOR 1XL MODULE	1	each
0060	C9400-SSD-240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each
0061	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0062	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0063	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0064	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each

Line Item No.	Part Number	Description	Qty	Unit Item
0065	S9400UK9-176	CISCO CATALYST 9400 XE 17.6 UNIVERSAL	1	each
0066	C9400-PWR-3200DC	CISCO CATALYST 9400 SERIES 3200W DC POWER SUPPLY	4	each
0067	NO-POWER-CORD	ECO FRIENDLY GREEN OPTION, NO POWER CABLE WILL BE SHIPPED	4	each
0068	C9400-SUP-1XL/2	CISCO CATALYST 9400 SERIES REDUNDANT SUPERVISOR 1XL MODULE	1	each
0069	C9400-SSD-240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each
0070	C9400-DNA-A	CISCO CATALYST 9400 DNA ADVANTAGE TERM LICENSE	1	each
0071	C9400-DNA-A-5Y	CISCO CATALYST 9400 DNA ADVANTAGE - 5 YEAR LICENSE	1	each
0072	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each
0073	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each
0074	C9300-NW-A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each
0075	SC9300UK9-176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each
0076	PWR-C1-715WDC/2	715W DC POWER SUPPLY	6	each
0077	C9300-SSD-NONE	NO SSD CARD SELECTED	3	each
0078	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	3	each
0079	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	3	each
0080	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each
0081	C9300-DNA-A-48	C9300 DNA ADVANTAGE, 48-PORT TERM LICENSES	3	each
0082	C9300-DNA-A-48- 5Y	C9300 DNA ADVANTAGE, 48-PORT, 5 YEAR TERM LICENSE	3	each
0083	C1-ADD-OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each
0084	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each
0085	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each
0086	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each
0087	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each
0088	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each
0089	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each
0090	C9300-NM-8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each
0091	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	3	each
0092	PWR-C1-1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each
0093	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each

Line Item No.	Part Number	Description	Qty	Unit Item
0094	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	1	each
0095	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	1	each
0096	C9300-NW-A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	1	each
0097	SC9300UK9-176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	1	each
0098	PWR-C1-715WDC/2	715W DC POWER SUPPLY	2	each
0099	C9300-SSD-NONE	NO SSD CARD SELECTED	1	each
0100	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	1	each
0101	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	1	each
0102	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	1	each
0103	C9300-DNA-A-48	C9300 DNA ADVANTAGE, 48-PORT TERM LICENSES	1	each
0104	C9300-DNA-A-48- 5Y	C9300 DNA ADVANTAGE, 48-PORT, 5 YEAR TERM LICENSE	1	each
0105	C1-ADD-OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	1	each
0106	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	1	each
0107	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	1	each
0108	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	1	each
0109	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	1	each
0110	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	1	each
0111	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	1	each
0112	C9300-NM-8X	CATALYST 9300 8 X 10GE NETWORK MODULE	1	each
0113	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	1	each
0114	PWR-C1-1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	1	each
0115	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	1	each
0116	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each
0117	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each
0118	C9300-NW-A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each
0119	SC9300UK9-176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each
0120	PWR-C1-715WDC/2	715W DC POWER SUPPLY	6	each
0121	C9300-SSD-NONE	NO SSD CARD SELECTED	3	each
0122	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	3	each
0123	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	3	each
0124	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each
0125	C9300-DNA-A-48	C9300 DNA ADVANTAGE, 48-PORT TERM LICENSES	3	each

	oment (DCPS)			l
Line Item No.	Part Number	Description	Qty	Unit Item
0126	C9300-DNA-A-48- 5Y	C9300 DNA ADVANTAGE, 48-PORT, 5 YEAR TERM LICENSE	3	each
0127	C1-ADD-OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each
0128	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each
0129	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each
0130	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each
0131	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each
0132	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each
0133	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each
0134	C9300-NM-8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each
0135	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	3	each
0136	PWR-C1-1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each
0137	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each
0138	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each
0139	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each
0140	C9300-NW-A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each
0141	SC9300UK9-176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each
0142	PWR-C1-715WDC/2	715W DC POWER SUPPLY	6	each
0143	C9300-SSD-NONE	NO SSD CARD SELECTED	3	each
0144	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	3	each
0145	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	3	each
0146	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each
0147	C9300-DNA-A-48	C9300 DNA ADVANTAGE, 48-PORT TERM LICENSES	3	each
0148	C9300-DNA-A-48- 5Y	C9300 DNA ADVANTAGE, 48-PORT, 5 YEAR TERM LICENSE	3	each
0149	C1-ADD-OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each
0150	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each
0151	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each
0152	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each
0153	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each
0154	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each
0155	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each

Line	pment (DCPS)			_
Item No.	Part Number	Description	Qty	Unit Item
0156	C9300-NM-8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each
0157	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	3	each
0158	PWR-C1-1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each
0159	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each
0160	C9500-16X-A	CATALYST 9500 16-PORT 10GIG SWITCH, ADVANTAGE	2	each
0161	CON-SNT- C95K16XA	SNTC-8X5XNBD CATALYST 9500 16-POR	2	each
0162	C9500-NM-BLANK	CATALYST 9500 NETWORK MODULE BLANK COVER	2	each
0163	C9500-NW-A	C9500 NETWORK STACK, ADVANTAGE	2	each
0164	C9500-DNA-16X-A	C9500 DNA ADVANTAGE, TERM LICENSES	2	each
0165	C9500-DNA-L-A-5Y	DNA ADVANTAGE 5 YEAR LICENSE	2	each
0166	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	6	each
0167	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	6	each
0168	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	2	each
0169	PWR-C4-950WDC-R	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each
0170	PWR-C4-950WDC- R/2	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each
0171	S9500UK9-176	CISCO CATALYST 9500 XE 17.6 UNIVERSAL	2	each
0172	GLC-LH-SMD=	1000BASE-LX/LH SFP TRANSCEIVER MODULE, MMF/SMF, 1310NM, DOM	4	each
0173	SFP-10G-SR-S=	10GBASE-SR SFP MODULE, ENTERPRISE-CLASS	8	each
0174	GLC-SX-MMD=	1000BASE-SX SFP TRANSCEIVER MODULE, MMF, 850NM, DOM	4	each
0175	GLC-TE=	1000BASE-T SFP TRANSCEIVER MODULE FOR CATEGORY 5 COPPER WIRE	2	each
0176	C9410R-96U-BNDL-A	CATALYST 9400 SERIES 10 SLOT,SUP, 2XC9400- LC-48U, DNA-A LIC	1	each
0177	CON-SNT- C9410R9A	SNTC-8X5XNBD CATALYST 9400 SERIES 10 SLOT,SUP, 2XC940	1	each
0178	C9400-NW-A	CISCO CATALYST 9400 NETWORK ADVANTAGE LICENSE	2	each
0179	C9400-PWR- BLANK	CISCO CATALYST 9400 SERIES POWER SUPPLY BLANK COVER	4	each
0180	C9400-S-BLANK	CISCO CATALYST 9400 SERIES SLOT BLANK COVER	2	each
0181	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	1	each
0182	S9400UK9-176	CISCO CATALYST 9400 XE 17.6 UNIVERSAL	1	each
0183	C9400-PWR-3200DC	CISCO CATALYST 9400 SERIES 3200W DC POWER SUPPLY	4	each
0184	NO-POWER-CORD	ECO FRIENDLY GREEN OPTION, NO POWER CABLE WILL BE SHIPPED	4	each
0185	CAB-CON-C9K- RJ45	CONSOLE CABLE 6FT WITH RJ-45-TO-RJ-45	1	each
	•			

Line Item No.	Part Number	Description	Qty	Unit Item
0186	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	1	each
0187	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	1	each
0188	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	1	each
0189	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	1	each
0190	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	2	each
0191	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	2	each
0192	C9400-SUP-1XL-B	CISCO CATALYST 9400 SERIES SUP-1XL BUNDLE SELECT OPTION	1	each
0193	C9400-SUP-1XL	CISCO CATALYST 9400 SERIES SUPERVISOR 1XL MODULE	1	each
0194	C9400-SSD-240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each
0195	C9400-LC-48U-B	CISCO CATALYST 9400 SERIES 2XC9400-LC-48U FOR BUNDLE SELECT	1	each
0196	C9400-SUP-1XL/2	CISCO CATALYST 9400 SERIES REDUNDANT SUPERVISOR 1XL MODULE	1	each
0197	C9400-SSD-240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each
0198	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0199	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0200	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0201	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0202	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0203	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0204	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	1	each
0205	C9400-DNA-A	CISCO CATALYST 9400 DNA ADVANTAGE TERM LICENSE	1	each
0206	C9400-DNA-A-5Y	CISCO CATALYST 9400 DNA ADVANTAGE - 5 YEAR LICENSE	-	each
0207	C9500-16X-A	CATALYST 9500 16-PORT 10GIG SWITCH, ADVANTAGE	2	each
0208	CON-SNT- C95K16XA	SNTC-8X5XNBD CATALYST 9500 16-POR	2	each
0209	C9500-NM-BLANK	CATALYST 9500 NETWORK MODULE BLANK COVER	2	each
0210	C9500-NW-A	C9500 NETWORK STACK, ADVANTAGE	2	each
0211	C9500-DNA-16X-A	C9500 DNA ADVANTAGE, TERM LICENSES	2	each
0212	C9500-DNA-L-A-5Y	DNA ADVANTAGE 5 YEAR LICENSE	2	each

Line Item No.	Part Number	Description	Qty	Unit Item
0213	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	6	each
0214	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	6	each
0215	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	2	each
0216	S9500UK9-176	CISCO CATALYST 9500 XE 17.6 UNIVERSAL	2	each
0217	PWR-C4-950WDC-R	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each
0218	PWR-C4-950WDC- R/2	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each
0219	GLC-LH-SMD=	1000BASE-LX/LH SFP TRANSCEIVER MODULE, MMF/SMF, 1310NM, DOM	4	each
0220	SFP-10G-SR-S=	10GBASE-SR SFP MODULE, ENTERPRISE-CLASS	32	each
0221	GLC-SX-MMD=	1000BASE-SX SFP TRANSCEIVER MODULE, MMF850NM, DOM,	4	each
0222	GLC-TE=	1000BASE-T SFP TRANSCEIVER MODULE FOR CATEGORY 5 COPPER WIRE	2	each
0223	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each
0224	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each
0225	C9300-NW-A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each
0226	SC9300UK9-176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each
0227	PWR-C1-715WDC/2	715W DC POWER SUPPLY	6	each
0228	C9300-SSD-NONE	NO SSD CARD SELECTED	3	each
0229	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	3	each
0230	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	3	each
0231	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each
0232	C9300-DNA-A-48	C9300 DNA ADVANTAGE, 48-PORT TERM LICENSES	3	each
0233	C9300-DNA-A-48- 5Y	C9300 DNA ADVANTAGE, 48-PORT, 5 YEAR TERM LICENSE	3	each
0234	C1-ADD-OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each
0235	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each
0236	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each
0237	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each
0238	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each
0239	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each
0240	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each
0241	C9300-NM-8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each
0242	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	3	each

	oment (DCPS)			
Line Item No.	Part Number	Description	Qty	Unit Item
0243	PWR-C1-1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each
0244	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each
0245	C9407R-96U-BNDL- A	CATALYST 9400 SERIES 7 SLOT, SUP, 2XC9400-LC-48U, DNA-A LIC	1	each
0246	CON-SNT- C9407R9A	SNTC-8X5XNBD CATALYST 9400 SERIES 7 SLOT, SUP, 2XC940	1	each
0247	C9400-NW-A	CISCO CATALYST 9400 NETWORK ADVANTAGE LICENSE	2	each
0248	C9400-PWR- BLANK	CISCO CATALYST 9400 SERIES POWER SUPPLY BLANK COVER	4	each
0249	C9400-S-BLANK	CISCO CATALYST 9400 SERIES SLOT BLANK COVER	1	each
0250	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	1	each
0251	CAB-CON-C9K- RJ45	CONSOLE CABLE 6FT WITH RJ-45-TO-RJ-45	1	each
0252	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	1	each
0253	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	1	each
0254	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	1	each
0255	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	1	each
0256	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	2	each
0257	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	2	each
0258	C9400-LC-48U-B	CISCO CATALYST 9400 SERIES 2XC9400-LC-48U FOR BUNDLE SELECT	1	each
0259	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	1	each
0260	C9400-SUP-1XL-B	CISCO CATALYST 9400 SERIES SUP-1XL BUNDLE SELECT OPTION	1	each
0261	C9400-SUP-1XL	CISCO CATALYST 9400 SERIES SUPERVISOR 1XL MODULE	1	each
0262	C9400-SSD-240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each
0263	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0264	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0265	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0266	C9400-LC-48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ-45)	1	each
0267	S9400UK9-176	CISCO CATALYST 9400 XE 17.6 UNIVERSAL	1	each
0268	C9400-PWR-3200DC	CISCO CATALYST 9400 SERIES 3200W DC POWER SUPPLY	4	each
0269	NO-POWER-CORD	ECO FRIENDLY GREEN OPTION, NO POWER CABLE WILL BE SHIPPED	4	each

Line Item No.	Part Number	Description	Qty	Unit Item
0270	C9400-SUP-1XL/2	CISCO CATALYST 9400 SERIES REDUNDANT SUPERVISOR 1XL MODULE	1	each
0271	C9400-SSD-240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each
0272	C9400-DNA-A	CISCO CATALYST 9400 DNA ADVANTAGE TERM LICENSE	1	each
0273	C9400-DNA-A-5Y	CISCO CATALYST 9400 DNA ADVANTAGE - 5 YEAR LICENSE	1	each
0274	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each
0275	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each
0276	C9300-NW-A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each
0277	SC9300UK9-176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each
0278	PWR-C1-715WDC/2	715W DC POWER SUPPLY	6	each
0279	C9300-SSD-NONE	NO SSD CARD SELECTED	3	each
0280	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	3	each
0281	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	3	each
0282	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each
0283	C9300-DNA-A-48	C9300 DNA ADVANTAGE, 48-PORT TERM LICENSES	3	each
0284	C9300-DNA-A-48- 5Y	C9300 DNA ADVANTAGE, 48-PORT, 5 YEAR TERM LICENSE	3	each
0285	C1-ADD-OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each
0286	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each
0287	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each
0288	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each
0289	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each
0290	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each
0291	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each
0292	C9300-NM-8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each
0293	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	3	each
0294	PWR-C1-1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each
0295	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each
0296	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	2	each
0297	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	2	each
0298	C9300-NW-A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	2	each
0299	SC9300UK9-176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	2	each

Line Item No.	Part Number	Description	Qty	Unit Item
0300	PWR-C1-715WDC/2	715W DC POWER SUPPLY	4	each
0301	C9300-SSD-NONE	NO SSD CARD SELECTED	2	each
0302	STACK-T1-50CM	50CM TYPE 1 STACKING CABLE	2	each
0303	CAB-SPWR-30CM	CATALYST STACK POWER CABLE 30 CM	2	each
0304	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	2	each
0305	C9300-DNA-A-48	C9300 DNA ADVANTAGE, 48-PORT TERM LICENSES	2	each
0306	C9300-DNA-A-48- 5Y	C9300 DNA ADVANTAGE, 48-PORT, 5 YEAR TERM LICENSE	2	each
0307	C1-ADD-OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	2	each
0308	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	2	each
0309	PI-LFAS-AP-T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	2	each
0310	D-DNAS-EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	2	each
0311	D-DNAS-EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	2	each
0312	TE-EMBEDDED-T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	2	each
0313	TE-EMBEDDED-T- 5Y	THOUSANDEYES - ENTERPRISE AGENTS	2	each
0314	C9300-NM-8X	CATALYST 9300 8 X 10GE NETWORK MODULE	2	each
0315	NETWORK-PNP- LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO- TOUCH DEVICE DEPLOYMENT	2	each
0316	PWR-C1-1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	2	each
0317	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	2	each

- **A.5.2** The Contractor shall provide only the most current models, components, and accessories in new, fully operational, factory sealed condition, with all applicable licenses.
- **A.5.3** The Contractor warrants and represents that the equipment is eligible for the manufacturer's normal [and extended] warranty and support within the United States to Authorized Users.
- **A.5.4** Previously owned, damaged, refurbished, remanufactured, counterfeit, "gray market" or substitute third party items will not be accepted.
- **A.5.5** The Contractor shall be an authorized reseller and shall not be sourcing equipment or materials from the manufacturer through more than one intermediary authorized distributor.

A.5.6 Deliverables

The Contractor shall perform the activities required to successfully complete the District's requirements and submit each deliverable to the CA identified in Section 6 of the contract:

CLIN	Deliverable	Quantity	Format/Method of Delivery	Due Date
0001 - 0317	Materials	As Spec	Physical Delivery	20 days ARO

A.5.7 All physical materials/notification(s) to be delivered to:

OCTO DC-NET Warehouse 2900 V Street NE Washington, DC 20018

Attn: Kevin Catalin (202) 715-3810

The District's Purchase Order (PO) number shall appear on all shipping labels and packing lists.

ATTACHMENT B: CONTRACT TYPE, SUPPLIES OR SERVICES AND PRICE/COST

- **B.1** The Office of the Chief Technology Officer (OCTO)/DC-Net, seeks a contractor to upgrade the network infrastructure components at DCPS schools identified for improved and sustained network coverage.
- **B.2** The District contemplates award of a Fixed Price contract in accordance with 27 DCMR Chapter 24.

B.3 Price Schedule – Firm Fixed Price

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0001	DN2-HW- APL-XL	DNA CENTER APPLIANCE (GEN 2)	3	each	\$140,990.18	\$422,970.54
0002	CON-SSSNT- DN2HWXL	SOLN SUPP 8X5XNBD DNA CENTER APPLIANCE (GEN 2)	3	each	\$12,490.51	\$37,471.53
0003	DNA-SW- 2.2.3	CISCO DNA CENTER SW 2.2.3	3	each	\$0.00	\$0.00
0004	CAB-AC- L620-C13	AC POWER CORD, NEMA L6-20 - C13, 2M/6.5FT	12	each	\$0.00	\$0.00
0005	DN2-PCIE- ID10GF	INTEL X710-DA2 DUAL-PORT 10G SFP+ NIC	3	each	\$0.00	\$0.00
0006	DN2-SD- 64G-S	64GB SD CARD FOR UCS SERVERS	3	each	\$0.00	\$0.00
0007	DN2-TPM2- 002	TRUSTED PLATFORM MODULE 2.0 FOR UCS SERVERS	3	each	\$0.00	\$0.00
0008	DN2- SD38T61X- EV	3.8TB 2.5 INCH ENTERPRISE VALUE 6G SATA SSD	6	each	\$0.00	\$0.00
0009	DN2-C480- 8HDD	UCS C480 M5 DRIVE MODULE FOR 8X HDD	9	each	\$0.00	\$0.00
0010	DN2-C480- CM	UCS C480 M5 CPU MODULE W/O CPU, MEM	6	each	\$0.00	\$0.00
0011	DN2- MSTOR-SD	MINI STORAGE CARRIER FOR SD (HOLDS UP TO 2)	3	each	\$0.00	\$0.00
0012	DN2-PSU1- 1600W	CISCO UCS 1600W AC POWER SUPPLY FOR RACK SERVER	12	each	\$0.00	\$0.00
0013	DN2-RAID- M5HD	CISCO 12G MODULAR RAID CONTROLLER WITH 4GB CACHE	3	each	\$0.00	\$0.00
0014	DN2-PCIE- IQ10GF	INTEL X710 QUAD-PORT 10G SFP+ NIC	3	each	\$0.00	\$0.00
0015	DN2- SD19T61X- EV	1.9TB 2.5 INCH ENTERPRISE VALUE 6G SATA SSD	48	each	\$0.00	\$0.00
0016	DN2- SD480G6I1X- EV	480GB 2.5 INCH ENTERPRISE VALUE 6G SATA SSD	6	each	\$0.00	\$0.00
0017	DN2-MR- X32G2RT-H	32GB DDR4-2933-MHZ RDIMM/2RX4/1.2V	72	each	\$0.00	\$0.00
0018	DN2-CPU- 18276	INTEL 8276 2.2GHZ/165W 28C/38.50MB DCP DDR4 2933 MHZ	12	each	\$0.00	\$0.00

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0019	DN2-HW- APL-XL-LIC	CISCO DNAC APPLIANCE LICENSE- 112 CORE	3	each	\$0.00	\$0.00
0020	С9136І-В	CISCO CATALYST 9136I SERIES, INTERNAL ANTENNAS,-B REGULATOR	566	each	\$1,225.45	\$693,604.70
0021	SW9136- CAPWAP-K9	CAPWAP SOFTWARE FOR CATALYST 9136I	566	each	\$0.00	\$0.00
0022	AIR-AP-T- RAIL-R	CEILING GRID CLIP FOR APS & CELLULAR GATEWAYS-RECESSED	566	each	\$0.00	\$0.00
0023	AIR-AP- BRACKET-1	802.11 AP LOW PROFILE MOUNTING BRACKET (DEFAULT)	566	each	\$0.00	\$0.00
0024	C9136I-DNA- OPTOUT	CISCO DNA SUBSCRIPTION OPTOUT FOR C9136AX	566	each	\$0.00	\$0.00
0025	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	566	each	\$0.00	\$0.00
0026	C9136I- MULTI	MINIMUM QUANTITY = 10	566	each	\$0.00	\$0.00
0027	C9500-16X-A	CATALYST 9500 16-PORT 10GIG SWITCH, ADVANTAGE	2	each	\$8,520.84	\$17,041.68
0028	CON-SNT- C95K16XA	SNTC-8X5XNBD CATALYST 9500 16-POR	2	each	\$4,615.76	\$9,231.52
0029	C9500-NM- BLANK	CATALYST 9500 NETWORK MODULE BLANK COVER	2	each	\$0.00	\$0.00
0030	C9500-NW-A	C9500 NETWORK STACK, ADVANTAGE	2	each	\$0.00	\$0.00
0031	C9500-DNA- 16X-A	C9500 DNA ADVANTAGE, TERM LICENSES	2	each	\$0.00	\$0.00
0032	C9500-DNA- L-A-5Y	DNA ADVANTAGE 5 YEAR LICENSE	2	each	\$0.00	\$0.00
0033	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	6	each	\$0.00	\$0.00
0034	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	6	each	\$0.00	\$0.00
0035	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	2	each	\$0.00	\$0.00
0036	PWR-C4- 950WDC-R	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each	\$0.00	\$0.00
0037	PWR-C4- 950WDC-R/2	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each	\$1,011.33	\$2,022.66
0038	S9500UK9- 176	CISCO CATALYST 9500 XE 17.6 UNIVERSAL	2	each	\$0.00	\$0.00
0039	GLC-LH- SMD=	1000BASE-LX/LH SFP TRANSCEIVER MODULE, MMF/SMF, 1310NM, DOM	8	each	\$494.04	\$3,952.32
0040	SFP-10G-SR- S=	10GBASE-SR SFP MODULE, ENTERPRISE-CLASS	24	each	\$316.33	\$7,591.92

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0041	GLC-SX- MMD=	1000BASE-SX SFP TRANSCEIVER MODULE, MMF, 850NM, DOM	4	each	\$249.42	\$997.68
0042	GLC-TE=	1000BASE-T SFP TRANSCEIVER MODULE FOR CATEGORY 5 COPPER WIRE	2	each	\$226.78	\$453.56
0043	C9407R-96U- BNDL-A	CATALYST 9400 SERIES 7 SLOT, SUP, 2XC9400-LC-48U, DNA-A LIC	1	each	\$9,406.38	\$9,406.38
0044	CON-SNT- C9407R9A	SNTC-8X5XNBD CATALYST 9400 SERIES 7 SLOT, SUP, 2XC940	1	each	\$5,159.23	\$5,159.23
0045	C9400-NW-A	CISCO CATALYST 9400 NETWORK ADVANTAGE LICENSE	2	each	\$0.00	\$0.00
0046	C9400-PWR- BLANK	CISCO CATALYST 9400 SERIES POWER SUPPLY BLANK COVER	4	each	\$0.00	\$0.00
0047	C9400-S- BLANK	CISCO CATALYST 9400 SERIES SLOT BLANK COVER	1	each	\$0.00	\$0.00
0048	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	1	each	\$0.00	\$0.00
0049	CAB-CON- C9K-RJ45	CONSOLE CABLE 6FT WITH RJ-45-TO-RJ-45	1	each	\$0.00	\$0.00
0050	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	1	each	\$0.00	\$0.00
0051	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	1	each	\$0.00	\$0.00
0052	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	1	each	\$0.00	\$0.00
0053	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	1	each	\$0.00	\$0.00
0054	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	2	each	\$0.00	\$0.00
0055	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	2	each	\$0.00	\$0.00
0056	C9400-LC- 48U-B	CISCO CATALYST 9400 SERIES 2XC9400-LC-48U FOR BUNDLE SELECT	1	each	\$0.00	\$0.00
0057	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	1	each	\$0.00	\$0.00
0058	C9400-SUP- 1XL-B	CISCO CATALYST 9400 SERIES SUP-1XL BUNDLE SELECT OPTION	1	each	\$2,456.10	\$2,456.10
0059	C9400-SUP- 1XL	CISCO CATALYST 9400 SERIES SUPERVISOR 1XL MODULE	1	each	\$0.00	\$0.00
0060	C9400-SSD- 240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each	\$982.44	\$982.44

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0061	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$0.00	\$0.00
0062	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$0.00	\$0.00
0063	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$4,420.98	\$4,420.98
0064	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$4,420.98	\$4,420.98
0065	S9400UK9- 176	CISCO CATALYST 9400 XE 17.6 UNIVERSAL	1	each	\$0.00	\$0.00
0066	C9400-PWR- 3200DC	CISCO CATALYST 9400 SERIES 3200W DC POWER SUPPLY	4	each	\$1,444.77	\$5,779.08
0067	NO-POWER- CORD	ECO FRIENDLY GREEN OPTION, NO POWER CABLE WILL BE SHIPPED	4	each	\$0.00	\$0.00
0068	C9400-SUP- 1XL/2	CISCO CATALYST 9400 SERIES REDUNDANT SUPERVISOR 1XL MODULE	1	each	\$9,333.18	\$9,333.18
0069	C9400-SSD- 240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each	\$982.44	\$982.44
0070	C9400-DNA- A	CISCO CATALYST 9400 DNA ADVANTAGE TERM LICENSE	1	each	\$0.00	\$0.00
0071	C9400-DNA- A-5Y	CISCO CATALYST 9400 DNA ADVANTAGE - 5 YEAR LICENSE	1	each	\$0.00	\$0.00
0072	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each	\$5,370.88	\$16,112.64
0073	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each	\$2,909.58	\$8,728.74
0074	C9300-NW- A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each	\$0.00	\$0.00
0075	SC9300UK9- 176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each	\$0.00	\$0.00
0076	PWR-C1- 715WDC/2	715W DC POWER SUPPLY	6	each	\$722.39	\$4,334.34
0077	C9300-SSD- NONE	NO SSD CARD SELECTED	3	each	\$0.00	\$0.00
0078	STACK-T1- 50CM	50CM TYPE 1 STACKING CABLE	3	each	\$48.16	\$144.48
0079	CAB-SPWR- 30CM	CATALYST STACK POWER CABLE 30 CM	3	each	\$45.76	\$137.28
0080	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each	\$0.00	\$0.00
0081	C9300-DNA- A-48	C9300 DNA ADVANTAGE, 48- PORT TERM LICENSES	3	each	\$0.00	\$0.00
0082	C9300-DNA- A-48-5Y	C9300 DNA ADVANTAGE, 48- PORT, 5 YEAR TERM LICENSE	3	each	\$0.00	\$0.00

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0083	C1-ADD- OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each	\$0.00	\$0.00
0084	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each	\$0.00	\$0.00
0085	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each	\$0.00	\$0.00
0086	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each	\$0.00	\$0.00
0087	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each	\$0.00	\$0.00
0088	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each	\$0.00	\$0.00
0089	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each	\$0.00	\$0.00
0090	C9300-NM- 8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each	\$1,228.05	\$3,684.15
0091	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	3	each	\$0.00	\$0.00
0092	PWR-C1- 1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each	\$0.00	\$0.00
0093	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each	\$0.00	\$0.00
0094	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	1	each	\$5,370.88	\$5,370.88
0095	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	1	each	\$2,909.58	\$2,909.58
0096	C9300-NW- A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	1	each	\$0.00	\$0.00
0097	SC9300UK9- 176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	1	each	\$0.00	\$0.00
0098	PWR-C1- 715WDC/2	715W DC POWER SUPPLY	2	each	\$722.39	\$1,444.78
0099	C9300-SSD- NONE	NO SSD CARD SELECTED	1	each	\$0.00	\$0.00
0100	STACK-T1- 50CM	50CM TYPE 1 STACKING CABLE	1	each	\$48.16	\$48.16
0101	CAB-SPWR- 30CM	CATALYST STACK POWER CABLE 30 CM	1	each	\$45.76	\$45.76
0102	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	1	each	\$0.00	\$0.00
0103	C9300-DNA- A-48	C9300 DNA ADVANTAGE, 48- PORT TERM LICENSES	1	each	\$0.00	\$0.00
0104	C9300-DNA- A-48-5Y	C9300 DNA ADVANTAGE, 48- PORT, 5 YEAR TERM LICENSE	1	each	\$0.00	\$0.00

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0105	C1-ADD- OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	1	each	\$0.00	\$0.00
0106	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	1	each	\$0.00	\$0.00
0107	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	1	each	\$0.00	\$0.00
0108	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	1	each	\$0.00	\$0.00
0109	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	1	each	\$0.00	\$0.00
0110	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	1	each	\$0.00	\$0.00
0111	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	1	each	\$0.00	\$0.00
0112	C9300-NM- 8X	CATALYST 9300 8 X 10GE NETWORK MODULE	1	each	\$1,228.05	\$1,228.05
0113	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	1	each	\$0.00	\$0.00
0114	PWR-C1- 1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	1	each	\$0.00	\$0.00
0115	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	1	each	\$0.00	\$0.00
0116	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each	\$5,370.88	\$16,112.64
0117	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each	\$2,909.58	\$8,728.74
0118	C9300-NW- A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each	\$0.00	\$0.00
0119	SC9300UK9- 176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each	\$0.00	\$0.00
0120	PWR-C1- 715WDC/2	715W DC POWER SUPPLY	6	each	\$722.39	\$4,334.34
0121	C9300-SSD- NONE	NO SSD CARD SELECTED	3	each	\$0.00	\$0.00
0122	STACK-T1- 50CM	50CM TYPE 1 STACKING CABLE	3	each	\$48.16	\$144.48
0123	CAB-SPWR- 30CM	CATALYST STACK POWER CABLE 30 CM	3	each	\$45.76	\$137.28
0124	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each	\$0.00	\$0.00
0125	C9300-DNA- A-48	C9300 DNA ADVANTAGE, 48- PORT TERM LICENSES	3	each	\$0.00	\$0.00
0126	C9300-DNA- A-48-5Y	C9300 DNA ADVANTAGE, 48- PORT, 5 YEAR TERM LICENSE	3	each	\$0.00	\$0.00

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0127	C1-ADD- OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each	\$0.00	\$0.00
0128	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each	\$0.00	\$0.00
0129	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each	\$0.00	\$0.00
0130	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each	\$0.00	\$0.00
0131	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each	\$0.00	\$0.00
0132	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each	\$0.00	\$0.00
0133	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each	\$0.00	\$0.00
0134	C9300-NM- 8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each	\$1,228.05	\$3,684.15
0135	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	3	each	\$0.00	\$0.00
0136	PWR-C1- 1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each	\$0.00	\$0.00
0137	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each	\$0.00	\$0.00
0138	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each	\$5,370.88	\$16,112.64
0139	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each	\$2,909.58	\$8,728.74
0140	C9300-NW- A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each	\$0.00	\$0.00
0141	SC9300UK9- 176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each	\$0.00	\$0.00
0142	PWR-C1- 715WDC/2	715W DC POWER SUPPLY	6	each	\$722.39	\$4,334.34
0143	C9300-SSD- NONE	NO SSD CARD SELECTED	3	each	\$0.00	\$0.00
0144	STACK-T1- 50CM	50CM TYPE 1 STACKING CABLE	3	each	\$48.16	\$144.48
0145	CAB-SPWR- 30CM	CATALYST STACK POWER CABLE 30 CM	3	each	\$45.76	\$137.28
0146	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each	\$0.00	\$0.00
0147	C9300-DNA- A-48	C9300 DNA ADVANTAGE, 48- PORT TERM LICENSES	3	each	\$0.00	\$0.00
0148	C9300-DNA- A-48-5Y	C9300 DNA ADVANTAGE, 48- PORT, 5 YEAR TERM LICENSE	3	each	\$0.00	\$0.00

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0149	C1-ADD- OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each	\$0.00	\$0.00
0150	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each	\$0.00	\$0.00
0151	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each	\$0.00	\$0.00
0152	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each	\$0.00	\$0.00
0153	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each	\$0.00	\$0.00
0154	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each	\$0.00	\$0.00
0155	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each	\$0.00	\$0.00
0156	C9300-NM- 8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each	\$1,228.05	\$3,684.15
0157	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	3	each	\$0.00	\$0.00
0158	PWR-C1- 1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each	\$0.00	\$0.00
0159	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each	\$0.00	\$0.00
0160	C9500-16X-A	CATALYST 9500 16-PORT 10GIG SWITCH, ADVANTAGE	2	each	\$8,520.84	\$17,041.68
0161	CON-SNT- C95K16XA	SNTC-8X5XNBD CATALYST 9500 16-POR	2	each	\$4,615.76	\$9,231.52
0162	C9500-NM- BLANK	CATALYST 9500 NETWORK MODULE BLANK COVER	2	each	\$0.00	\$0.00
0163	C9500-NW-A	C9500 NETWORK STACK, ADVANTAGE	2	each	\$0.00	\$0.00
0164	C9500-DNA- 16X-A	C9500 DNA ADVANTAGE, TERM LICENSES	2	each	\$0.00	\$0.00
0165	C9500-DNA- L-A-5Y	DNA ADVANTAGE 5 YEAR LICENSE	2	each	\$0.00	\$0.00
0166	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	6	each	\$0.00	\$0.00
0167	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	6	each	\$0.00	\$0.00
0168	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	2	each	\$0.00	\$0.00
0169	PWR-C4- 950WDC-R	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each	\$0.00	\$0.00
0170	PWR-C4- 950WDC-R/2	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each	\$1,011.33	\$2,022.66

CLIN	ipment (DCPS) Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0171	S9500UK9- 176	CISCO CATALYST 9500 XE 17.6 UNIVERSAL	2	each	\$0.00	\$0.00
0172	GLC-LH- SMD=	1000BASE-LX/LH SFP TRANSCEIVER MODULE, MMF/SMF, 1310NM, DOM	4	each	\$494.04	\$1,976.16
0173	SFP-10G-SR- S=	10GBASE-SR SFP MODULE, ENTERPRISE-CLASS	8	each	\$316.33	\$2,530.64
0174	GLC-SX- MMD=	1000BASE-SX SFP TRANSCEIVER MODULE, MMF, 850NM, DOM	4	each	\$249.42	\$997.68
0175	GLC-TE=	1000BASE-T SFP TRANSCEIVER MODULE FOR CATEGORY 5 COPPER WIRE	2	each	\$226.78	\$453.56
0176	C9410R-96U- BNDL-A	CATALYST 9400 SERIES 10 SLOT,SUP, 2XC9400-LC-48U, DNA-A LIC	1	each	\$15,229.74	\$15,229.74
0177	CON-SNT- C9410R9A	SNTC-8X5XNBD CATALYST 9400 SERIES 10 SLOT,SUP, 2XC940	1	each	\$7,963.56	\$7,963.56
0178	C9400-NW-A	CISCO CATALYST 9400 NETWORK ADVANTAGE LICENSE	2	each	\$0.00	\$0.00
0179	C9400-PWR- BLANK	CISCO CATALYST 9400 SERIES POWER SUPPLY BLANK COVER	4	each	\$0.00	\$0.00
0180	C9400-S- BLANK	CISCO CATALYST 9400 SERIES SLOT BLANK COVER	2	each	\$0.00	\$0.00
0181	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	1	each	\$0.00	\$0.00
0182	S9400UK9- 176	CISCO CATALYST 9400 XE 17.6 UNIVERSAL	1	each	\$0.00	\$0.00
0183	C9400-PWR- 3200DC	CISCO CATALYST 9400 SERIES 3200W DC POWER SUPPLY	4	each	\$1,444.77	\$5,779.08
0184	NO-POWER- CORD	ECO FRIENDLY GREEN OPTION, NO POWER CABLE WILL BE SHIPPED	4	each	\$0.00	\$0.00
0185	CAB-CON- C9K-RJ45	CONSOLE CABLE 6FT WITH RJ-45-TO-RJ-45	1	each	\$0.00	\$0.00
0186	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	1	each	\$0.00	\$0.00
0187	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	1	each	\$0.00	\$0.00
0188	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	1	each	\$0.00	\$0.00
0189	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	1	each	\$0.00	\$0.00
0190	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	2	each	\$0.00	\$0.00
0191	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	2	each	\$0.00	\$0.00

CLIN	ipment (DCPS) Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0192	C9400-SUP- 1XL-B	CISCO CATALYST 9400 SERIES SUP-1XL BUNDLE SELECT OPTION	1	each	\$2,456.10	\$2,456.10
0193	C9400-SUP- 1XL	CISCO CATALYST 9400 SERIES SUPERVISOR 1XL MODULE	1	each	\$0.00	\$0.00
0194	C9400-SSD- 240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each	\$982.44	\$982.44
0195	C9400-LC- 48U-B	CISCO CATALYST 9400 SERIES 2XC9400-LC-48U FOR BUNDLE SELECT	1	each	\$0.00	\$0.00
0196	C9400-SUP- 1XL/2	CISCO CATALYST 9400 SERIES REDUNDANT SUPERVISOR 1XL MODULE	1	each	\$9,333.18	\$9,333.18
0197	C9400-SSD- 240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each	\$982.44	\$982.44
0198	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$4,420.98	\$4,420.98
0199	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$4,420.98	\$4,420.98
0200	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$4,420.98	\$4,420.98
0201	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$4,420.98	\$4,420.98
0202	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$0.00	\$0.00
0203	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$0.00	\$0.00
0204	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	1	each	\$0.00	\$0.00
0205	C9400-DNA- A	CISCO CATALYST 9400 DNA ADVANTAGE TERM LICENSE	1	each	\$0.00	\$0.00
0206	C9400-DNA- A-5Y	CISCO CATALYST 9400 DNA ADVANTAGE - 5 YEAR LICENSE	1	each	\$0.00	\$0.00
0207	C9500-16X-A	CATALYST 9500 16-PORT 10GIG SWITCH, ADVANTAGE	2	each	\$8,520.84	\$17,041.68
0208	CON-SNT- C95K16XA	SNTC-8X5XNBD CATALYST 9500 16-POR	2	each	\$4,615.76	\$9,231.52
0209	C9500-NM- BLANK	CATALYST 9500 NETWORK MODULE BLANK COVER	2	each	\$0.00	\$0.00
0210	C9500-NW-A	C9500 NETWORK STACK, ADVANTAGE	2	each	\$0.00	\$0.00
0211	C9500-DNA- 16X-A	C9500 DNA ADVANTAGE, TERM LICENSES	2	each	\$0.00	\$0.00
0212	C9500-DNA- L-A-5Y	DNA ADVANTAGE 5 YEAR LICENSE	2	each	\$0.00	\$0.00

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0213	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	6	each	\$0.00	\$0.00
0214	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	6	each	\$0.00	\$0.00
0215	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	2	each	\$0.00	\$0.00
0216	S9500UK9- 176	CISCO CATALYST 9500 XE 17.6 UNIVERSAL	2	each	\$0.00	\$0.00
0217	PWR-C4- 950WDC-R	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each	\$0.00	\$0.00
0218	PWR-C4- 950WDC-R/2	950W DC CONFIG 4 POWER SUPPLY FRONT TO BACK COOLING	2	each	\$1,011.33	\$2,022.66
0219	GLC-LH- SMD=	1000BASE-LX/LH SFP TRANSCEIVER MODULE, MMF/SMF, 1310NM, DOM	4	each	\$494.04	\$1,976.16
0220	SFP-10G-SR- S=	10GBASE-SR SFP MODULE, ENTERPRISE-CLASS	32	each	\$316.33	\$10,122.56
0221	GLC-SX- MMD=	1000BASE-SX SFP TRANSCEIVER MODULE, MMF850NM, DOM,	4	each	\$249.42	\$997.68
0222	GLC-TE=	1000BASE-T SFP TRANSCEIVER MODULE FOR CATEGORY 5 COPPER WIRE	2	each	\$226.78	\$453.56
0223	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each	\$5,370.88	\$16,112.64
0224	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each	\$2,909.58	\$8,728.74
0225	C9300-NW- A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each	\$0.00	\$0.00
0226	SC9300UK9- 176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each	\$0.00	\$0.00
0227	PWR-C1- 715WDC/2	715W DC POWER SUPPLY	6	each	\$722.39	\$4,334.34
0228	C9300-SSD- NONE	NO SSD CARD SELECTED	3	each	\$0.00	\$0.00
0229	STACK-T1- 50CM	50CM TYPE 1 STACKING CABLE	3	each	\$48.16	\$144.48
0230	CAB-SPWR- 30CM	CATALYST STACK POWER CABLE 30 CM	3	each	\$45.76	\$137.28
0231	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each	\$0.00	\$0.00
0232	C9300-DNA- A-48	C9300 DNA ADVANTAGE, 48- PORT TERM LICENSES	3	each	\$0.00	\$0.00
0233	C9300-DNA- A-48-5Y	C9300 DNA ADVANTAGE, 48- PORT, 5 YEAR TERM LICENSE	3	each	\$0.00	\$0.00
0234	C1-ADD- OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each	\$0.00	\$0.00

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0235	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each	\$0.00	\$0.00
0236	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each	\$0.00	\$0.00
0237	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each	\$0.00	\$0.00
0238	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each	\$0.00	\$0.00
0239	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each	\$0.00	\$0.00
0240	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each	\$0.00	\$0.00
0241	C9300-NM- 8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each	\$1,228.05	\$3,684.15
0242	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	3	each	\$0.00	\$0.00
0243	PWR-C1- 1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each	\$0.00	\$0.00
0244	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each	\$0.00	\$0.00
0245	C9407R-96U- BNDL-A	CATALYST 9400 SERIES 7 SLOT, SUP, 2XC9400-LC-48U, DNA-A LIC	1	each	\$9,406.38	\$9,406.38
0246	CON-SNT- C9407R9A	SNTC-8X5XNBD CATALYST 9400 SERIES 7 SLOT, SUP, 2XC940	1	each	\$5,159.23	\$5,159.23
0247	C9400-NW-A	CISCO CATALYST 9400 NETWORK ADVANTAGE LICENSE	2	each	\$0.00	\$0.00
0248	C9400-PWR- BLANK	CISCO CATALYST 9400 SERIES POWER SUPPLY BLANK COVER	4	each	\$0.00	\$0.00
0249	C9400-S- BLANK	CISCO CATALYST 9400 SERIES SLOT BLANK COVER	1	each	\$0.00	\$0.00
0250	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	1	each	\$0.00	\$0.00
0251	CAB-CON- C9K-RJ45	CONSOLE CABLE 6FT WITH RJ-45-TO-RJ-45	1	each	\$0.00	\$0.00
0252	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	1	each	\$0.00	\$0.00
0253	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	1	each	\$0.00	\$0.00
0254	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	1	each	\$0.00	\$0.00
0255	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	1	each	\$0.00	\$0.00

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0256	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	2	each	\$0.00	\$0.00
0257	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	2	each	\$0.00	\$0.00
0258	C9400-LC- 48U-B	CISCO CATALYST 9400 SERIES 2XC9400-LC-48U FOR BUNDLE SELECT	1	each	\$0.00	\$0.00
0259	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	1	each	\$0.00	\$0.00
0260	C9400-SUP- 1XL-B	CISCO CATALYST 9400 SERIES SUP-1XL BUNDLE SELECT OPTION	1	each	\$2,456.10	\$2,456.10
0261	C9400-SUP- 1XL	CISCO CATALYST 9400 SERIES SUPERVISOR 1XL MODULE	1	each	\$0.00	\$0.00
0262	C9400-SSD- 240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each	\$982.44	\$982.44
0263	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$4,420.98	\$4,420.98
0264	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$4,420.98	\$4,420.98
0265	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$0.00	\$0.00
0266	C9400-LC- 48U	CISCO CATALYST 9400 SERIES 48-PORT UPOE 10/100/1000 (RJ- 45)	1	each	\$0.00	\$0.00
0267	S9400UK9- 176	CISCO CATALYST 9400 XE 17.6 UNIVERSAL	1	each	\$0.00	\$0.00
0268	C9400-PWR- 3200DC	CISCO CATALYST 9400 SERIES 3200W DC POWER SUPPLY	4	each	\$1,444.77	\$5,779.08
0269	NO-POWER- CORD	ECO FRIENDLY GREEN OPTION, NO POWER CABLE WILL BE SHIPPED	4	each	\$0.00	\$0.00
0270	C9400-SUP- 1XL/2	CISCO CATALYST 9400 SERIES REDUNDANT SUPERVISOR 1XL MODULE	1	each	\$9,333.18	\$9,333.18
0271	C9400-SSD- 240GB	CISCO CATALYST 9400 SERIES 240GB M2 SATA MEMORY (SUPERVISOR)	1	each	\$982.44	\$982.44
0272	C9400-DNA- A	CISCO CATALYST 9400 DNA ADVANTAGE TERM LICENSE	1	each	\$0.00	\$0.00
0273	C9400-DNA- A-5Y	CISCO CATALYST 9400 DNA ADVANTAGE - 5 YEAR LICENSE	1	each	\$0.00	\$0.00
0274	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	3	each	\$5,370.88	\$16,112.64
0275	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	3	each	\$2,909.58	\$8,728.74

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0276	C9300-NW- A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	3	each	\$0.00	\$0.00
0277	SC9300UK9- 176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	3	each	\$0.00	\$0.00
0278	PWR-C1- 715WDC/2	715W DC POWER SUPPLY	6	each	\$722.39	\$4,334.34
0279	C9300-SSD- NONE	NO SSD CARD SELECTED	3	each	\$0.00	\$0.00
0280	STACK-T1- 50CM	50CM TYPE 1 STACKING CABLE	3	each	\$48.16	\$144.48
0281	CAB-SPWR- 30CM	CATALYST STACK POWER CABLE 30 CM	3	each	\$45.76	\$137.28
0282	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	3	each	\$0.00	\$0.00
0283	C9300-DNA- A-48	C9300 DNA ADVANTAGE, 48- PORT TERM LICENSES	3	each	\$0.00	\$0.00
0284	C9300-DNA- A-48-5Y	C9300 DNA ADVANTAGE, 48- PORT, 5 YEAR TERM LICENSE	3	each	\$0.00	\$0.00
0285	C1-ADD- OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	3	each	\$0.00	\$0.00
0286	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	3	each	\$0.00	\$0.00
0287	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	3	each	\$0.00	\$0.00
0288	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	3	each	\$0.00	\$0.00
0289	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	3	each	\$0.00	\$0.00
0290	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	3	each	\$0.00	\$0.00
0291	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	3	each	\$0.00	\$0.00
0292	C9300-NM- 8X	CATALYST 9300 8 X 10GE NETWORK MODULE	3	each	\$1,228.05	\$3,684.15
0293	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	3	each	\$0.00	\$0.00
0294	PWR-C1- 1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	3	each	\$0.00	\$0.00
0295	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	3	each	\$0.00	\$0.00
0296	C9300-48U-A	CATALYST 9300 48-PORT UPOE, NETWORK ADVANTAGE	2	each	\$5,370.88	\$10,741.76
0297	CON-SNT- C93004UA	SNTC-8X5XNBD CATALYST 9300 48-PORT UPOE, NETWORK ADVA	2	each	\$2,909.58	\$5,819.16

CLIN	Product Number	Description	Qty	Unit Item	Unit Price	Extended Price
0298	C9300-NW- A-48	C9300 NETWORK ADVANTAGE, 48-PORT LICENSE	2	each	\$0.00	\$0.00
0299	SC9300UK9- 176	CISCO CATALYST 9300 XE 17.6 UNIVERSAL UNIVERSAL	2	each	\$0.00	\$0.00
0300	PWR-C1- 715WDC/2	715W DC POWER SUPPLY	4	each	\$722.39	\$2,889.56
0301	C9300-SSD- NONE	NO SSD CARD SELECTED	2	each	\$0.00	\$0.00
0302	STACK-T1- 50CM	50CM TYPE 1 STACKING CABLE	2	each	\$48.16	\$96.32
0303	CAB-SPWR- 30CM	CATALYST STACK POWER CABLE 30 CM	2	each	\$45.76	\$91.52
0304	TE-C9K-SW	TE AGENT FOR IOSXE ON C9K	2	each	\$0.00	\$0.00
0305	C9300-DNA- A-48	C9300 DNA ADVANTAGE, 48- PORT TERM LICENSES	2	each	\$0.00	\$0.00
0306	C9300-DNA- A-48-5Y	C9300 DNA ADVANTAGE, 48- PORT, 5 YEAR TERM LICENSE	2	each	\$0.00	\$0.00
0307	C1-ADD- OPTOUT	CISCO DNA PREMIER ADD-ON SESSION OPT OUT (NO FULFILLMENT)	2	each	\$0.00	\$0.00
0308	PI-LFAS-T	PRIME INFRASTRUCTURE LIFECYCLE & ASSURANCE TERM - SMART LIC	2	each	\$0.00	\$0.00
0309	PI-LFAS-AP- T-5Y	PI DEV LIC FOR LIFECYCLE & ASSURANCE TERM 5Y	2	each	\$0.00	\$0.00
0310	D-DNAS- EXT-S-T	CISCO DNA SPACES EXTEND TERM LICENSE FOR CATALYST SWITCHES	2	each	\$0.00	\$0.00
0311	D-DNAS- EXT-S-5Y	CISCO DNA SPACES EXTEND FOR CATALYST SWITCHING - 5YEAR	2	each	\$0.00	\$0.00
0312	TE- EMBEDDED- T	CISCO THOUSANDEYES ENTERPRISE AGENT IBN EMBEDDED	2	each	\$0.00	\$0.00
0313	TE- EMBEDDED- T-5Y	THOUSANDEYES - ENTERPRISE AGENTS	2	each	\$0.00	\$0.00
0314	C9300-NM- 8X	CATALYST 9300 8 X 10GE NETWORK MODULE	2	each	\$1,228.05	\$2,456.10
0315	NETWORK- PNP-LIC	NETWORK PLUG-N-PLAY CONNECT FOR ZERO-TOUCH DEVICE DEPLOYMENT	2	each	\$0.00	\$0.00
0316	PWR-C1- 1100WAC-P	1100W AC 80+ PLATINUM CONFIG 1 POWER SUPPLY	2	each	\$0.00	\$0.00
0317	CAB-TA-NA	NORTH AMERICA AC TYPE A POWER CABLE	2	each	\$0.00	\$0.00
Grand Total					Grand Total	\$1,616,579.69

B.4 Special Provisions Related to the Covid-19 Emergency

- **B.4.1** Contractors who provide goods or perform services in person in District of Columbia facilities or worksites ("On-site Contractors") shall ensure that each of their employees, agents, subcontractors, and supervised volunteers have been either (i) fully vaccinated against COVID-19 (as defined herein) or (ii) have been granted one of the exemptions identified below, are undergoing weekly COVID-19 testing, and only reporting to the District workplace when such test result is negative.
- **B.4.2** Except as provided in B.4.3, On-site Contractors may grant to their employees, agents, subcontractors, and supervised volunteers the following exemptions from vaccination against COVID-19:
 - a. Persons who object in good faith and in writing that the person's vaccination would violate their sincerely held religious beliefs and the granting of the religious exemption would not impose an undue burden consistent with federal law;
 - b. Persons who have obtained and submitted written certification from a physician or other licensed health professional who may order an immunization, that being fully vaccinated is medically inadvisable as a result of the person's medical condition. If such condition is temporary, a medical exemption may only be granted until the date on which taking the vaccine would no longer be medically inadvisable; or
 - c. Persons who agree to be tested weekly for COVID-19 and provide a negative COVID-19 test result on a weekly basis.
- **B.4.3** On-site Contractors may only grant to their employees, agents, subcontractors, and supervised volunteers who work in (i) a public, public charter, independent, private, or parochial school in the District, or (ii) a child care facility regulated by the Office of the State Superintendent of Education, the exemptions described in B.4.2(a) and (b), and shall not grant those persons the exemption described in B.4.2(c).
- **B.4.4** On-site Contractors shall require their employees, agents, subcontractors, and supervised volunteers who have received one of the exemptions under B.4.2 to wear a mask in the District facility or
 - workplace and to provide the On-site Contractor with a negative COVID-19 test result on a weekly basis in order to report to work at the District facility or workplace.
- **B.4.5** The District may request a certification of compliance with this provision, proof of vaccination status, exemption documentation, and/or COVID-19 test results from On-site Contractors.
- **B.4.6** An On-site Contractor may impose stricter masking, vaccination, or testing requirements on their employees, agents, subcontractors, and supervised volunteers.
- **B.4.7** For purposes of this provision, "fully vaccinated" means a person has received all vaccines and boosters recommended by the CDC.
- **B.4.8** The Contractor is required to comply with City Administrator's Order 2022-3, Mask Requirements Inside Certain District Government Buildings and Offices, dated April 14, 2022, and all substantially similar mask requirements including any modifications to the Order, unless and until they are rescinded.

35